315 325 158 352 257: chick weights (in grams)

Calculate the mean, variance, standard deviation of the sample of chick weights

Yx; 315+ 325+ 158 + 352 + 257

X = = 281.4
n 5 g
2 Z(xi _X)Z

5= n—1
_ (315 —281.4)2 + (325 — 281.4)% + (158 — 281.4)? + (352 — 281.4)? + (257 — 281.4)
a 4

23837.2 5
= 1 =59593 ¢

s = ++y/s2 = +V/5959.3 = 77.1965 ~ 77.2 g
Empirical Rule

68% of chick weights are within: X + 1s = 281.4 + 77.2 = 204.2,358.6 g
95% observations are within: X + 2s = 281.4 4+ 2(77.2) = 127,435.8 g
99.7% observations are within: X + 3s = 281.4 + 3(77.2) = 49.8,513 g

Graphs:
Symmetric/skewed
Modality

Histogram of chickwts$weight
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Approximately symmetric and unimodal (could technically say bimodal)



Histogram of warpbreaks $breaks
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Right skewed, unimodal
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Left skewed, unimodal



